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7/ “I have done my duty.”"—Which tense is
thAs?

(A) Present Indefinite
(B) Present Perfect
(C) Past Perfect

(D) Past Indefinite

2. Find the synonym of ‘Covert’.
(A) Revert
(B) Secret
(C) Desert
(D) Honest

3. What is the most appropriate passive form

of “Who has done the work?”?

(A) Who has been done the work?
(B) By whom has been done the work?
(C) Whom has done the work by?
(D) By whom has the work been done?

4. What parts of speechis the word ‘Adjective’?
(A) Pronoun
(B) Noun
(C) Adjective
(D) Adverb

5. Find the correctly spelt word,
(A) Reharsal
(B) Rehersal
(C) Rehearsal
(D) Rehearsel

6. ‘Philanthropist’ means
(A) Humanitarian
(B) Hater of man
(C) Lover of animals
(D) Lover of book's

7. Give the one word substitution of:
One who talks continuously
(A) Voracious
(B) Impecunious
(C) Loquacious
(D) Avaricious

8. Instead of ‘tolerance’ we can say
(A) bear on
(B) bear in
(C) bear with
(D) bear at

9. What type of sentence is ‘Do or Die’?
(A) Simple
(B) Complex
(©) Exclamatory
(D) Compound

10. What is the synonym of ‘Atrocity’?
(A) Solidarity
(B) Pity
(C) Cruelty
(D) Punctuality

11. The antonym of ‘Forgo’ is
(A) Claim
(B) Despise
(C) Undergo
(D) Remember

12. The idiomatic expression ‘A slap on the
wrist’ means
(A) Short on time
(B) A very mild punishment
(C) To have a dispute
(D) To force an issue

13. Replace the underlined portion with an
idiom from the list below:

They finally agreed on the business deal.

(A) let the cat out of the bag
(B) see eye to eye

(C) to feel under the weathe'r_
(D) to cut a corner



14. It has been established (hyy

(P) Einstein was

(Q) although a great scientist

(R) weak in arithmetic

(S) right from his school days
To formacorrect and me

the proper sequence should be:

(A) (Q) (P) (R)(S)
(B) (P) (R) (S) (Q)
(©) (P)(S) (Q) (R)
(D) Q) (P) (S) (R)

15. Give the one word substitution of:

Creature having both male and female
organs

(A) Sodomite

(B) Homosexual
(C) Masochist
(D) Hermaphrodite

16. Fill in the blank with the correct word.
Ram and his brothers were four in
(A) quantity
(B) number
(C) numbers

(D) totality

aningful sentence,

17. Choosethe appropriate antonymof ‘Adore’.

(A) Love
(B) Like
(C) Hate
(D) Ignore

18. Fillin the blank with the appropriate option:
her temper.

She has no control
(A) on

(B) with

(C) over

(D) after

19. Fillin the blank with the appropriate option:

What are you worrying 7
(A) to

(B) with

(C) for

(D) about

‘w

SBP/22

20. An Obstetrician deals with
(A) Child disease
(B) Liver disease .
(C) Pregnancy & child birth
(D) Nerve disease

21. Use a correct gerund in the blank space:
[ like pictures.
(A) painting
(B) painted
(C) to paint
(D) paint

22. Fillintheblank withthe appropriate option:
He spends hours the phoneeveryday.
(A) at
(B) on
(C) with
(D) in

23. Fillinthe blank with the appropriate option:
He works aninsurance company.
(A) for
(B) at
(©) in
(D) with

24. Which one is the plural number?
(A) Index
(B) Alumni
(C) Hypothesis
(D) Analysis

25, Insert the righ o
t ; —_—
space: ght preposition in the blank

He dieq dengue.
(A) with
(B) from
(C) of
(D) by
Please Turn Qver
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26. The radioactive element used in heart-
pacemakers is

(A) Uranium
(B) Deuterium
(C) Plutonium
(D) Radium

27. Which of the following isotopes is used in
dating archaeological findings?

235

A 92

28. West Bengal Industrial Development
Corporation Ltd. (WBIDC) was established in

(A) 1967
(B) 1981
(© 1977
(D) 1983

29. Phytopthora palmivora is a
(A) bio-pesticide
(B) bio-insecticide
(C) mycoherbicide
(D) first bio-herbicide

30. acme : mace : : alga : ?

(A) glaa

(B) gaal e
(C) laga \(\/
(D) gala

‘-

26. 2T-PTINE (@1 (OGN THAMA TaZy7
FAI27°?
(A) ZSAfAN
(B) wTHAA

(C) grbifams
(D) cafeam

27. ageiige oM I [T Fa0s @i
RGP A2 1 232

235

A 92 Y

28. STD (35 2SR (STSHATID Dol
ff¥t5e (WBIDC) #ifore =3

(A) 1967 A=t
(B) 1981 A=
(C) 1977 Al
(D) 1983 Al

29. Phytopthora palmivora & 438
(A) T SIS
(B) T8 ST \
(C) 2aRFTS SaRT
(D) &% (&1 AR

0. dcme : mace : : alga: ? \7
(A) glaa
(B) gaal
(C) laga %
(D) gala P O\

X \

L

-
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31. Which of the following pair do not match?
(A) Jaunpur — Atala Masjid
(B) Malwa — Jahaz Mahal
(C) Ajmer — Kubbatul Islam
(D) Gaur — Bara Sona Masjid

32. Who is the present Chairman of UPSC?
(A) Manoj Soni
(B) Arvind Saxena
(C) Vinay Mittal
(D) P. K. Joshi

33. The Self-respect Movement was founded
by
(A) Ambedkar
(B) Periyar E. V. Ramasamy Naicker
(C) Dinkarrao Javalkar
(D) Keshavrao Jedhe

34. Chand Bibi ruled over which of the Deccan
Sultanates?

(A) Bijapur

(B) Berar

(C) Ahmednagar
(D) Golkonda

35, Pure water freezes at a temperature—
(A) 47 °F
(B) 32°F
(C) 0°F
(D) 19°F

PRI ESST, o
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31. Az cerenla sy @D @l
(A) (EoE — o7 AW
(B) IR — SI2Ie 2
(C) SIEIG — FRGE 2o
(D) (NG — AT Gl Afem

32, 3B 3 @31 -7 TE GRA0E (F?
(A) AT Gl
(B) wrafaw ATl
(C) fama e
(D) 3. . @i

33, WG ST 2o 21
(A) SITFRFES @l
(B) (olfzrara 3, . amrmisl ARicad &l
(C) TaaNe GiSHHEd Al
(D) (RIS (SR Al

34, SRR wIFRITe @i TEroig 7 R ?
(A) Retem
(B) @™
(C) SRGM«E
(D) (TR

35, fRus & (@ SR o IE—
(A) 47 °F
(B) 32 °F
(C) 0°F
(D) 19 °F

Please Turn Over
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36. As of 2022, which country is the biggest
opium producer?
(A) China
(B) India
(C) Afghanistan
(D) Nepal

37. Who painted the image of Bharat Mata?
(A) Rabindranath Tagore
(B) Abanindranath Tagore
(C) Bankim Chandra Chattopadhyay
(D) Mahatma Gandhi

38. Loktak lake is located in the state of
(A) Karnataka
(B) Arunachal Pradesh
(C) Manipur
(D) Bihar

39. Who among the following Viceroys
repealed the Vernacular Press Act of 18787

(A) Lord Lytton
(B) Lord Curzon
(C) Lord Dufferin
(D) Lord Ripon

40. Who has been appointed as the CEO and
MD of Air India?
(A) Campbell Wilson
(B) Ajay Singh
(C) Alan Joyce
(D) Maen Razougi

e

36. 2022 Separ fvas J2E S Beet et
@WBe
/ (A) B
(B) ©IT®
(C) SrEsifersr
(D) (s

37 srgeure!’s bafld & & AR ?
(A) TG ST
(B) SAAEIY IIPA
(C) IfEoE SN
(D) w=r ofifed

e G (I AT TS ?
(A) F5%
(B) Seibe] ™!
(C) sz
(D) fE=

., afeRe oo g & 1878 A
-“omI uaE Sizd (Vernacular Press Act) s
PEA?

(A) =76 6w
(B) =16 FIEiw
(C) =76 uIHRA
(D) 16 o

40. TENE @ IR AT RS R @n
e T
(A) =TI T2
(B) W&
(C) ST &EM
(D) W YR




41. ‘ELISA’ test is employed to diagnose
(A) Polio Virus
(B) AIDS antibodies
(C) Tuberculosis
(D) Cancer

42. In a family there are six members A, B, C,
D, E, F. A and B are married couple. D is only son
of C. A is father of E, who is granddaughter of F,
whose husband has died and C is brother of A.
How many male members are in the family?

(A) 3
(B) 4
©) 5
(D) 2

43. Which one of the following states, Dulhasti
Hydroelectric power project is located?

(A) Uttarakhand

(B) Jammu & Kashmir
(C) Himachal Pradesh
(D) Sikkim

44. P is wife of Q and mother of R. R is
grand-daughter of W. S is grandmother of T and
mother of Q. Which of the following is true?

(A) R is sister of T.
(B) R is brother of T.
(C) Q is daughter of S.
(D) None of the above

45. The Reserve Bank of India was established
in the year
(A) 1930
(B) 1935
(C) 1947
(D) 1951

SBP/22

/1. ‘ELISA’ (5% #%f® ¥ catst fefa aafa oy
T A 2 O T

(A) cofifEne efRas

(B) AIDS =if%afe

(C) T

(D) %6

42. @37 #fF 4l A, B, C, D, E, F—&2 6 &
7| A, B 3aifee #if$ | D, C-99 9a1@ 47|
A, E-47 A1 @32 E, F-47 «1efd | F-a3 F3 T
(ST @32 C, A-a3 ©2 | 6% AR FoT 773
S S0 ?

(A) 3
(B) 4
.5
(D) 2

43, fafie aepefm s @nles wrie
TEfage *ife Sesivm o Bifors srme  /

(A) TEarde

(B) &9 8 FMIF

(C) femmwet eigm=

(D) B

44, P %5 Q-93 & @R R-93 M| R & W-a%
(SN & | S 2 T-9F ST W Q-9 W | AR @D
A%y 2

(A) R, T-93 Sf5Rt |
(B) R, T-93 ©i% |

(C) Q, S-93 F+71 |

SD) TR IR 7

/

7

5. oRon fAws e afed wEh
(A) 1930
(B) 1935
(C) 1947
(D) 1951

Please Turn Over
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46. Match the following:

(a) Kot Diji 1. Luigi Pio Tessitori

(b) Harappa 2. F.A. Khan, G.S. Ghurye

(c) Kalibangan 3. Daya Ram Sahani

(d) Mohenjodaro 4. Rakhal Das Bandyopadhyay
(A) (a-2), (b-3), (c-1), (d-4)
(B) (a-1), (b-3). (c-2), (d-4)
(C) (a-4), (b-1). (c-2). (d-3)
(D) (a-3), (b-2), (c-4), (d-1)

'47. In a chess tournament each of six players
will play every other player exactly once. How
many matches will be played in the tournament?

(A) 12
(B) 15
(©) 30
(D) 72

48. If Water is called Black, Black is called
Tree, Tree is called Blue, Blue is called Rain, Rain
is called Pink and Pink is called Fish in a certain
language, then what is the colour of sky?

(A) Blue
(B) Rain
(C) Fish
(D) Pink

49. Who is the current Chief of the Army Staff
of India?
(A) General Upendra Dwivedi

(B) General Manoj Pande
(C) General Rana Pratap Kalita
(D) General Surinder Singh Mahal

50. ‘Peaty’ soils of Kerala is known as

(A) Reh
(B) Kari
(C) Kallar
(D) Thur

B-8
46. (GG (el 2 ‘ |
(a) (I5 fafe 1. #13f4 s coxPrreifa
(b) Z3al 2. @ Q. A, f&. @, g
(c) FifEvasi= ~3. wEAn Azl
(d) SrTEMmITe! . Qe ararieiang

(A) (a-2), (b-3), (c-1), (d-4)
(B) (a-1), (b-3p (c-2), (d-4).
(C) (a-4), (b-1), (c-2), (d-3)
(D) (a-3), (b-2), (c-4), (d-1)

47. DG G0 v AfSranforera e (e
9/ AT (ACAANGE 05 (AT G GFA2 (A0S
A3 | €2 effSraifsrern Fouf (Ie 204 ?

(A) 12
(B) 15
(C) 30
(D) 72

48. (It ST Water-(F 051 Black, Black-(&
qeT Tree, Tree-(3 Blue, Blue-(& Rain, Rain-(&
Pink, Pink-(= Fish 351 O3 ‘colour of the sky’-(&
% ORI F A0 2

(A) Blue
(B) Rain
(C) Fish
(D) Pink

49. IS ©iRCed oF g Wi 1% @2
(A) (E=ICIe S farm
(B) (SITAe WIS ANS
(C) (&= ool PO
(D) cemica sffamra B wms

50. R AN e F A Afafver
(A) (R
(B) @ifa
(C) Tl

(D) 95



» 51. Whatisthe percentage of a cloth that should
e e>.(c.1uded from 40 metre cloth so that the
remaining portion is 7 metre?

(A) 17-5
(B) 19
(C) 825
(D) 81

52. The Himalayas are formed of parallel fold
ranges, of which the oldest range is

(A) the Siwalik Range

(B) the Lesser Himalayan Range
(C) the Great Himalayan Range
(D) the Dhaula Dhar Range

53. Fill in the blank:

Satyajit Ray’s birth anniversary
is being celebrated this year, 2022.

(A) 100th
(B) 102nd
(C) 101st
(D) 103rd

54. Who pioneered ‘Rakhi Bandhan’ festival
during partition of Bengal?
(A) Chittaranjan Das
(B) Rabindranath Tagore
(C) Pramathanath Mitra
(D) Pulin Behari Das

55. Who has been appointed as the new Chief
Election Commissioner of India?

(A) Sanjiv Kumar
(B) Rajiv Kumar
(C) Rajiv Mehta

(D) Sushil Mehta

B-9
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51. 40 fBR FPCEa “oFa T =gt AW e
7 fSorR FIG 6T AT ?
(A) 17'5
(B) 19
(C) 825
(D) 81

52. RWEE @ FEIMH AASAE (STEIF)
e fw ofds| «a g @ AFerfa’
Ao ?

(A) frifes sifor=fd
(B) wrafEsem siferid
(C) famfy o forid
(D) (@etigg Ao

é{ Aofee A@IT _ ©F SEAIRD @@
27 (2022) THIIAT 1 2052 |
(A) 100
(B) 102
(©) 101
(D) 103

547 TR TR AR BT SRR
@2

(A) foeagw w

(B) 7Y I

(C) &wemi g

(D) AR v

55, TSN & Srared 13 i s 2
e 2w ?

(A) &R T

(B) A& T

(C) G (NZSl

(D) A (Zo!

Please Turn C
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56. Earliest evidence of settled agriculture in
the subcontinent comes from
(A) Utnur
(B) Burzahom
(C) Mehrgarh
(D) Bagor

57. IfCABLEiscodedas XYZOV, then YZXP
is code of

(A) BABY
(B) BACK
(C) CELL
(D) BELL

58. Who has become the second Indian to score
10,000 runs in T-20 cricket?

(A) KL Rahul

(B) Shikhar Dhawan
(C) Rohit Sharma
(D) M S Dhoni

59. There are 15 chairs in arow. Position of P is
atthe middle. Qis at 12th position counting from the
right. How many chairs are in between P and Q?

(A) 4
B) 5
C) 2
(D) 3

60. ‘The Constitution of India is neither purely
federal nor purely unitary but is a combination of
both’. — Who said so?

(A) Jawaharlal Nehru
(B) D.D. Basu

(C) Dr. Ambedkar
(D) Rajendra Prasad

B-10

56, SIS TN BRI ABiAe fwdy
IN efgrwd (AP NS (TR
(A) TR
(B) JeIE™
(C) GIzANT
(D) Mt

57. 3ft CABLE-93 Fafeafeisl XYZOV 23,
O@ YZXP 11 AR o1 2
(A) BABY
(B) BACK
(C) CELL
(D) BELL

58. f56-20 &G i fadiy Sre 10,000 T+
I ?
(A) & 95 AT
(B) Trem giexiw
(C) @ifEs =
(D) @% &% caif¥

59. @3 #fRre 150 EIw Wz P-93 =W
3 RN | Bt (T (I T Q97 T
1293 | P 938 Q-9F WA ITH GIT SR 2

(A) 4
(B) 5
©) 2
(D) 3

60. ‘orRTer WRAYW srasfR gEaRne W,
AR waraliee W g Wbt 2 Bews e’ |
— i & e o

(A) SO (WIZF
B) fofe 7

(C) = Hrgre
(D) e 2=

i



.61. Which would come in place of ‘?" in the
given series?

ACE, FGH, ?, PON
(A) KKK

(B) JKI

(C) HIH

(D) IKL

62. Who was felicitated byAurobindo Ghosh
as ‘the Prophet of Great Political Creed’?

(A) Brahmabandhab Upadhyay
(B) Ashwini Kumar Dutta

(C) Rashbehari Bose

(D) Bipin Chandra Pal

63. Which of the following is an aquatic fern?
(A) Adiantum
(B) Dryopteris
(C) Salvinia
(D) Equisetum

64. Which of the following taxes is within the
Jurisdiction of the Central Government?

(A) Corporation Tax

(B) Professional Tax

(C) Land Revenue

(D) Excise on alcoholic liquors

65. Members of the State Public Service
Commission are appointed by
(A) the President of India
(B) the Prime Minister of India
(C) the Governor of the State
(D) None of them

e
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61. D #@d T ¢
ACE, FGH, ?, PON
(A) KKK
(B) JKI
(C) HIH
(D) IKL

62. S/afa% (arF 3it3 ‘the Prophet of a Great
Political Creed’ (936 28 AGTAToS A0 ATHI)
JE TS AR ?

(A) THAFHI SAIGE

(B) SfRINIFE we
(C) == a9
(D) faforoe =i

63. fmfafe @M were w2
(A) SUIfSE=OM (Adiantum)
(B) Q=A™ (Dryopteris)
(C) e (Salvinia)
(D) 220N (Equisetun)

_64: e sl g @R @EER FRHIER
TGS ?

(A) FATH-93 39

(B) Ffewa

(OR-EEIEL

(D) WA TR THUF

FE

(A) ©RTSA AFelf®
(B) SRITSA dUwa)
(C) AR

(D) T3 (T2

Please Turn Over
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‘Molassis basin _
66. Which state is known as the ‘Molassis 66. WW %?
basin’? (A) faza
(A) Bihar (B) ATE
(B) Rajasthan (C) fSrean
(C) Mizoram D) —
(D) Assam
67. For the purpose of legislation, education is /67, SIZA AT & el W‘ﬁ@m
enlisted in the /(A @ER o
(A) Union List ’ (B) fer Sl
((2)) ztate List e ©) T Creers
oncurrent Lis
ICR[GE BE
(D) None of the above (D) ©iC=e CWT%?{
68. ‘Loringa’ mangrove is located in 68. = WA @A™ S ?
(A) Gujarat (A) WT=
o ®) o
isha
8
(D) Andhra Pradesh (C) efex
(D) ST

69. Who wrote Humayunnamah? 69/@5 TARAANT I6o] fRretw ?
(A) Gulbadan Begum |
A) BFV
(B) Humayun &) o

(C) Birbal (B) =R
(D) Abul Faz (C) iz
(D) =i e

70. Who among the following Indians won

solitary gold medal at the Asian Wrestling . ﬁﬁﬁ%w@ammmmwm

Championships, 20227 0229 RIS Caifete SR RCs cmmeTA A
(A) Bajrang Punia S I 2
(B) Deepak Punia (A) ITRe sifean

(C) Ravi Kumar Dahiya (B) # s
AT A3
(D) Gouray Baliyan

(C) 3fRpara wiftan
(D) Mz 3l




71. The average of 6 consecutive odd numbers
is 64. Greatest of them is

(A) 67
(B) 65
) 7N
(D) 69

72. What is the minimum age required by a

citizen to be qualified for being a member of the
Lok Sabha?

(A) 21
(B) 25
(C) 30
(D) 35

73. ‘Curie’ is unit of
(A) Radioactivity
(B) Temperature
(C) Heat
(D) Energy

74. Who was elected the President of India for
the second time?

(A) Rajendra Prasad

(B) Sarvapalli Radhakrishnan
(C) V.V.Giri

(D) Sankar Dayal Sharma

75. Kumari river is a tributary of
(A) Mahanadi
(B) Damodar
(C) Kansabati
(D) Ajoy

T R———
B-13
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71. & FUEE Aq YA MU T & 64,
Fza Uil 23
(A) 67

(B) 65
< 7
(D) 69

72 @ AT FEETeR W TS T
T© A% JAF O A7
(A) 21
(B) 25
(©) 30
(D) 35

73, Teonfm s o aw IRy
(A) (oufgzs!
(B) isisa
(C) oi%
(D) *if&

IR 2

(A) ATEH 2P

(B) FIHAN gt
(SRCACADIE

(D) *Favaie =sf

75. TAR TNM0 @IF A0 S 2
(A) T
(B) WM
(C) TARS
(D) =&

Please Turn Over
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76. A number series is given with one wrong
term. Identify the wrong term given:
53 59 63 67 71
(A) 53
(B) 63
(C) 67
(D) 71

77. The Act that gave enormous powers to the
British Government to repress political activities
was

(A) Arms Act

(B) Vernacular Press Act
(C) Rowlatt Act

(D) ActIII of 1882

78. Who has been appointed as the new Chief
Minister of Tripura?
(A) Manik Saha
(B) Jishnu Dev
(C) Narendra Chandra Debbarma

(D) Ratan Lal Nath

79. Who was the first Indian Governor General

f free India?
(A) Rajendra Prasad
(B) Chakraborty Rajagopalachari
(C) Sarvapalli Radhakrishnan

(D) None of them

. Who was the founder of ‘Anushilan
ity’?

(A) Ashwini Kumar Dutta

(B) Bipin Chandra Pal

(C) Aurobindo Ghosh

(D) Pramathanath Mitra

76. 3 ge-+A7 TS Gb A AT (rem oy
st Remafera W -+ s e 3
53 59 63 67 71
(A) 53
(B) 63
(C) 67
(D) 71

%WWWWWﬂ
vl S HA el frcafee ¢

(A) I =3

(B) S (24 Si1F
(C) =D =S

(D) 1% 2, 1882

4

]81/@w%ﬁrmwv§rﬁ§@m?
(A) wifes iy
(B) forge o=
(C) 9= v (It
(D) 99 &/ Y

79. FIA SRS A AR oTeela (IR
?

(A) qItE® &AM

(B) S&FaS! ArESAEBIT
(C) e Arargaed

(D) 7 (TR 7w

}t./vﬁmﬂﬁ%’aﬁf%ﬁm{@?
(A) SRIPI 7@
(B) fafstoas sire
(C) wzfe™ cary
(D) &mesY fig

o
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81. Which one of the following animals is 8. fsre iw alififbrs ‘Sraw Sramy’ aem 7319
known as a ‘living fossil’? - (A) coAfaT=B
(A) Peripatus (B) s
(B) Amoeba
(C) Prawn (©) e
(D) Apple snail (D) e =g

82. Choose the correct chronological order of

82. fnfeifie e Ferem agafm wrmaiEa
the following dynasties of Delhi Sultanate:

A ofafaes g ¢
(A) Lodi, Ilbari Turks, Tughlug, Khilji (A) @, Tl ofF, gwerms, Rerfe
(B) Ilbari Turks, Khilji, Tughlug, Lodi ’ ' ’
B TS € DR LU, 200 (B) Tmalfz ofF, Refe, vaerss, i
ghluq, Khilji, Lodi, Ilbari Turks
(D) Khilji, Lodi, Tughlug, Tibari Turks (C) e, R, cof, e ¥

(D) R, @, weers, Toaif ofF

83. The Chairman of the Public Accounts

C s 83, AR TS FRBa EarE ===
ommittee 1s : (A) Wﬂq S — st
(A) a member of the Ruling Party (B) R worm <wem i
(B) a member of the Opposition Party : i
(C) Union Finance Minister (C) =& S
(D) Deputy Speaker of the Parliament (D) AfeTod (eoifs P

84. The vitamin which helps in clotting of

_ 84 7@ TG 4TS @I fOBiRm wame! w7 2
blood is (A) A

(A) A (B) D

(B) D (C) B

(I()J) z (D) K

(D)

85. Koel is a tributary of 85. (IS (FIH T Tofwm ¢

(A) Son (A) o1

(B) Chambal (B) o9&

(C) Yamuna (C)

(D) Ganga ' Py
(D) sl

Please Turn Over
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86. What is the chromosome number in human
ovum?

(A) 36
(B) 46
(C) 48
(D) None of the above

87. ‘Seahorse’ is a
(A) Mammal
(B) Plant
(C) Fish
(D) None of the above

88. Earliest fossil remains of archaic
Homo sapiens has been found in
(A) Siwalik hills

(B) Narmada valley
(C) Nallamalai hills
(D) Chotanagpur Plateau

89. Which country recently replaced Russia in
the UN Human Rights Council?

(A) Poland

(B) Czech Republic
(C) Syria

(D) Chile

90. Whoisthe directorof the film ‘The Kashmir
Files’?
(A) Farhan Akhtar
(B) Karan Johar
(C) Vivek Agnihotri

86. A fCHITS (LTSI FA7
(A) 36
(B) 46
(C) 48
(D) ToAraa @R 1
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87, T carst’ 3o
< (A) TR
(B) Tfen
(C) 3z
(D) Totaa @I 7

88. fsfere mzIW (A 2l @ Pz
G SNifigs 2 2

(A) frifes #iizre

(B) sl Sorerat

(C) AR AT

(D) iAo MeTef

89. (319 (i 7%= UN Human Rights Council
-9 TR Fwifee smme

(A) CAleTTS

(B) o fsirafers

(C) ifeart

(D) fof

%ﬁ@?ﬁa‘@f@#iﬁﬁaﬂm@?
(A) TR TOE

(B) &9 (&iza

(C) s wfaza

(D) Anurag Kashyap

(D) Sreqst i



91. Who enunciat :
ed his famoy
¢ a9 e S fo
Swaraj’ must be for the ‘masses’ ang rmula that
‘classes’ alone? not for the

(A) Motilal Nehry
(B) Gandhiji

(C) Subhas Chandra Bose
(D) C.R.Das

92.. Any money bill can not be introduced in the
Parliament without the consent of the

(A) Prime Minister of India
(B) Speaker of the Parliament
(C) President of India

(D) Union Finance Minister

93. Xiomara Castro has become the first ever
female President of which nation?

(A) Cuba
(B) Honduras
(C) Mexico
(D) Colombia

94. The earlier name of WTO was
(A) UNCTAD
(B) GATT
(C) UNIDO
(D) OECD

95. In which of the following inscriptions we
find earliest reference to ‘Sati’?
(A) Asokan inscription of Girnar
(B) Aihole inscription
(C) Eran inscription
(D) Damodarpur inscription

B-17 SBP/22

91. @ S17 e TS @ = @ Fare
TB TSI’ B0 G BYIG e v ey w2
(A) Gifeata e
(B) stifefe
(C) FeiEnd (A
(D) . ==, wit

2

92, AFECS Ja TS 2ol @ime wdf7E oo
491 qE J—

(A) OIS A4ITE
(B) ARfGICGa fPoimra
(C) wrred Ao
(D) @@g SR

){mwmmm A wfze Agelfs
fadifoe 2w 2

(A) e

(B) g
(C) iRt
(D) F=faa

/ WTO-97 #3871 F fezt?
(A) UNCTAD
(B) GATT

(C) UNIDO
(D) OECD

95, (I ETIHTS O A ABIToN Srar “ew
(91" ?

(A) TR st e
(B) SR ey

(C) 93N AR

(D) Witmasa M

Please Turn Qv



SBP/22

96. Theradiation carrying maximum energy—

(A) UV rays
(B) Gamma rays
(C) X-rays

(D) IR rays

97. When was the ‘Carlyle Circular’ issued?
(A) 1905

(B) 1901
(C) 1902
(D) 1906

98. Which one of the following is not correctly
matched?

(A) NH-2—Delhi-Kolkata
(B) NH-35—Barasat-Bangoan
(C) NH-41—Kolaghat-Haldia
(D) NH-34—Sevak-Gangtok

99, Who is the Guardian of the Public Purse in
India?
(A) The President of India
(B) The Union Finance Minister

(C) The Comptroller & Auditor General
of India

(D) The Public Accounts Committee

100. SEBI stands for the
(A) State Earnings Board of India

(B) Securities and Exchange Bank of India
(C) Securities and Exchange Board of
India
(D) State Exchange Bank of India

1
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96. cu A e *fE A o %@y
T (A) I SIEnEs (S afy
(B) ittt af<l
(C) @F-apx
(D) RS (SAEIES)

97, ‘FiefiRe A B G ZA?
(A) 1905
(B) 1901
(C) 1902
(D) 1906

98, famfere (i Af3w el 2ATarey 74 ?
(A) SIS 8 2—MIE-TTRIel
(B) GEIIGE 718 35— AP~ 511
(C) TERPIGS 7% 41—(PIENIo-2HA WA
(D) TERPIGS 718 34—FTaT-T1E

99, SIATS FIFIA TZRER TS (F 2
(A) SIFTeR AGAS
(B) @ TR
(C) 7 TG SIS o (S
(D) & e sorIeA St

. SEBI-43 271 3 2=
(A) State Earnings Board of India
(B) Securities and Exchange Bank of India

(C) Securities and Exchange Board of
India

(D) State Exchange Bank of India



101. Who among the followin

contemporary ruler

Chaitanyadeva’s time?
(A) Nusrat Shah
(B) Fatheh Shah
(C) Husein Shah Sharqi
(D) Alauddin Hussein Shah

€ was the

of Bengal during

102. Which country hosted the 5th BIM
Summit in March, 20229 o

(A) Sri Lanka
(B) Bangladesh
(C) Japan

(D) South Korea

103. Who wrote the book ‘Hind Swaraj’?
(A) Jawaharlal Nehru
(B) Lal Bahadur Shastri
(C) Mahatma Gandhi
(D) Maulana Abul Kalam Azad

104. Who ridiculed Gandhi as ‘seditious fakir’?
(A) Winston Churchill
(B) Ramsay MacDonald
(C) Lord Irwin
(D) Cripps

105. Which of the following is chiefly presentin
LPG?

(A) Methane
(B) Ethane
(C) Propane
(D) Butane
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101,/ 315 (FOHER SINES et w1
N

(A) PIFS *1Z

(B) #(%3 "1z

(C) = =itz =&

(D) SRS 2 =iz

102. W16, 2022-9 5% ANEES A Frawr Do
= I A 2

(A) st

(B) e
(C) S

(D) wfEEe cpifzra

3. ow zare gl FE I
(A) TR 2T
(B) TR I
(C) W= sif&
(D) WG SFE PN ST

104. @ e domRD =R @ S

(T

(A) O35 bifpe

(B) TN WIFCOIHITS
(C) =6 Ao

(D) feem

/é ‘LPG'~(S (I SN T @ oifmstie
ATF?

(A) fre=
(B) &
(C) &=
(D) RSB

Please Turn Over
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106. Which former Prime Minister was confen'e:
with Netaji Award, 2022 by the Netaji Researc

Bureau?
(A) Barack Obama
(B) Shinjo Abe
(C) Theresa May
(D) Fumio Kishida

107. Jawahar Rozgar Yojana for rural
employment was started in the year

(A) 1959
(B) 1979
(C) 1969
(D) 1989

108. The Montagu-Chelmsford Reforms were
announced in the year

(A) 1919
(B) 1918
(©C) 1920
(D) 1921

109. Which will come next to—
B2E, D5H, F12K, H27N, ?
(A) I58Q
(B) I57R
(©) 157Q
(D) J58Q

In1 dli(:’ ?Who was known as the ‘Granq Old Man of
(A) Badruddin Tyabji
(B) Surendranath Banerjey
(C) Gopal Krishna Gokhale
(D) Dadabhai Naoroji

- ey

106. (1 &= AR Grord
PR (ATF 2022 AR T spzrgr

(A) 33 G
(B) Pt e
(C) (St v
(D) Ffirs ffim
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fonms
ez

107. 21t FiE oS8T oy wazy Ry
(e BF 7

(A) 1959 3=

(B) 1979 1tz

(C) 1969 31t

(D) 1989 et

108. STHU-(5P{RTS AR @i zn
(A) 1919 e
(B) 1918 it
(©) 1920 T
(D) 1921 it

/N

/

9. Ae5a A Tsyef eey 5
B2E, DSH, F12K, H27N, ?
(A) 158Q
(B) I57R
(C) 157Q
(D) J58Q

0. "I 67T s = e’ e et 2w
(A) ITFRY (oARE)
(B) Twrie ywid]
(C) CMterre cotirzie

(D) wmrelR qezd
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111. Who has been appointeq

Minister of Sri Lanka in May, 22‘)52;1176 new Prime
(A) Mahinda Rajapaksa

(B) D. M. Jayaratne

(C) Ranil Wickremesinghe

(D) Sirimaro Bandaranaike

112. Legendary musician Pandit Shiy Kumar
Sharma, who passed away recently, is associated
with which of the following Instruments?

(A) Sitar

(B) Flute
(C) Sarod
(D) Santoor

113. The ‘powerhouse’ of cell is
(A) Nucleus

(B) Lysosome
(C) Mitochondria
(D) DNA

114. Who was recently appointed as the
Ambassador of India in U.S.?

(A) Varsh Vardhan Singh
(B) Jai Shankar

(C) Taranjit Singh Sandhu
(D) Vijay Gokhale

115, Who built Buland Darwaza?
(A) Humayun
(B) Akbar
(C) Shah Jahan
(D) Aurangzib

SBP/22
%r( @, 2022-9 (T DeFa TgH AR e
?

(A) wEwt Ao

(B) f©. . swacy

(C) = Rerafera
(D) Fifsicat avamiE=

112, SRR MRS e amre Afes fragsrz

*i¥ff sreifs streenm warEs, R @m e
it & foret 2

(A) o
(B) i
(C) HaWm
(D) &<

(A) FrefEams
(B) =R

(C) RGR=E
(D) TBasa

14, 89w @ NF
e 2 e
(A) 339 34 B
(B) o *ieaq
(C) waefEre e iy
(D) fRew e

1% I e iy st ¢
(A) =REH
(B) S

(C) = &R

(D) Q%=
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116. Who used ‘Tulghumah’as a military tactic
for the first time in India?

(A) Alauddin Khilji

(B) Muhammad bin Tughluq
(C) Babur

(D) Akbar

117. Alakananda and Bhagirathi rivers make
confluence at

(A) Dev Prayag

(B) Karna Prayag
(C) Rudra Prayag
(D) Vishnu Prayag

118. ‘Pongol’ is the main festival of
(A) Tamilnadu
(B) Karnataka
(C) Kerala
(D) Andhra Pradesh

119. Bills other than money bills are introduced
for being passed by the Parliament in
(A) Lok Sabha
(B) Rajya Sabha
(C) any House of the Parliament
(D) jointsession of both the Houses of the
Parliament

120. If the sequence of alphabets is reversed,
which of the following will be the 14th letter?
(A) N
(B) L
© O
(D) M

. |
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116. SA7S A (I R “Gorga s
@ AT AR ?

(A) SIS fRefe

(B) zum A guers

(C) ARA

(D) S

7. SET @ S 7 7 fifEre 2
(A) Craefst
(B) F<f=amst
(C) Zw=aNs!
(D) fageefmeat

118. ‘(A& 249 ST (@ ATEa—
" (A) ot
(B) 3o
(C) =
(D) SHhAT™

Yéﬁmm T Y e et
=1+ e (ot dare 2

(A) ER™TOR

(B) IrEpely

(C) ARETST @ @INe Fr%

(D) “Aficieds Ton avwa (Y SREE

g& A& 3T e RerfosE A
143 or3fb 37
(A) N
(B) L
©) o
(D) M
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o -offici :
i S121 The ex-otticio Chairman of the Rajya Sabha
(A) the President
(B) the Vice-President
(C) the Prime Minister
(D) None of them

122. Ina group of cows and hens, the number of

legs are 14 more than twice the number of head
How many cows are there? 4

(A) 7
(B) 12
©) 5
(D) 10

123. The age of father is twice that of elder son.
Ten years hence, the age of the father will be three
times that of the younger son. If the difference of
ages of the two sons is 15 years, find the age of the
father.

(A) 50 years
(B) 55 years
(C) 60 years
(D) 70 years

124. The next term in the sequence 4, 10,22, 46
is

(A) 56
(B) 66
(C) 94
(D) 92

125. When Gandhi-Irwin Pact was signed?
(A) 1931
(B) 1930
(C) 1932
(D) 1929

SBP/22

121 G AAS GAAN 2T
(A) 3RS

(B) ToHaReifs

(C) 24

(D) THATAA (PR 7

122. @IV (Sl @ A @G 2@ Ry (i
el 322 et (A 14 @ | (IFEa A 35 2
(A) 7

(B) 12

©) 5

(D) 10

123. otz 3 (& <tad IR fagd (74 328 A
foror a1 Y < WETR foned @ )| ATReE
TR N 15 I3 A, o 7 fefa w26 |

(A) 503=3
(B) 553=1
(C) 60 T=d
(D) 70 =1

124 4, 10, 22, 46 — @2 AR IS 2L 2=
(A) 56
(B) 66
(C) 94
(D) 92

125/ 34 SifE-oa0en pfe Fiine =2
(A) 1931 A
(B) 1930 A
(C) 1932 A
(D) 1929

Please Turn
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126. Who was the first president of the All India

Kisan Sabha?

(A) Swami Sahajanand Saraswati

(B) N.G. Ranga
(C) Jawaharlal Nehru
(D) Jaya Prakash Narayan

127. The western part of Teesta river in West

Bengal is called
(A) Terai
(B) Duars
(C) Bagar
(D) Bhabar

128. The Kasai and Keleghai rivers Jjoin to form

(A) the Rupnarayan river
(B) the Haldi river

(C) the Subarnarekha river
(D) the Damodar river

129. The Sariska Tiger Sanctuary is located at
(A) Bharatpur
(B) Alwar
(C) Darrah
(D) Puskar

130. Andaman & Nicobar islands are separated

/
(A) Nine degree Channel

(B) Ten degree Channel
(©) Eight degree Channe]
(D) Seven degree Channel
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126. FLSITER FIF TS 2 Tolafy
¢ (A) FI5 FAEGNAW HIHO! ‘
(B) «@. f&. 7=
(C) TS2IAM (2P
(D) TP wraret

127, Fow1 e o e AFrn 3
(A) S713

(B) @t
(C) sl
(D) ©I§9

128, IR 8 (=742 e fifere ey am
(A) oAFES T
(B) Zzifn 77t
(C) Rzt w7t
(D) WITIme %

129. e Y TrenRenfs @i wafe—
(A) S5
(B) e
(C) wrat

(D) =%

gg NI Flo{2{g (<A FoiraIRe Bstojgre v

(A) 77 fefa sree
(B) Wi f&f2 wyiterer
(C) G fofa) spreee
(D) i fofs) oieae

. |



131. Fill in the gap:
3,8,6,14, .20
(A) 11
(B) 10
© 8
D) 9

1.32- Who is the protector of the Fundamental
Rights of a citizen?

(A) Legislature

(B) Judiciary

(C) Executive

(D) None of the above

133. Which of the following are the right bank
tributaries to Ganga?

(A) Yamuna, Chambal and Son

(B) Yamuna, Son and Damodar

(C) Yamuna, Gandak and Son

(D) Yamuna, Chambal and Damodar

134. The name of Prasanta Chandra Mahalanobis
is associated with

(A) First Five-Year Plan
(B) Second Five-Year Plan
(C) Third Five-Year Plan
(D) Fourth Five-Year Plan

135. Which of the following fractions is greater
than % and less than —2—?
(A)

(B)

©)

(D)

5"9 wmlH = Wi
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131, *@rge fadt 3% 3
/ 3.8614,__ 20
(A) 11
(B) 10
(C) 8
(D) 9

/ (A) Sies s faett
(B) fora et
(C) = et
(D) B @D 7

17/#19@@?@%6!@6@37{:@ @7

133, R SR ceimafE i o SIcad Soiwm 2
/ (A) I, 5 aR (W
(B) T, (19 @GR WIS
(C) T, ST G CAI
(D) T, e Q3R AW

134. oG 5 NZEHAE AN TG SR

/" (A) 2% IR sz M |

(B) faom Al sAfsamiata e |
(C) SO RIS sfffasmig |
(D) v¥ AR ~Hfzm= M|

135. Sva SaeaRE g @D % STo 0ol

UEH % ST (R ?

(A)
(B)
©)

(D)

— wH = W[
sle <
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136. Which among the following refers to

‘unpaid labour’?
(A) Shulka
(B) Udranga
(C) Bali
(D) Bisthi

137. Who was the author of ‘The Philosophy of
the Bomb’?

(A) Bhagwati Charan Vohra
(B) Bipin Chandra Pal

(C) Yashpal

(D) Aurobindo Ghosh

138. Which metal is present in haemoglobin?
(A) Iron
(B) Zinc
(C) Magnesium
(D) Copper

139. Viktor Orban has registered a fourth
consecutive winin which nation’s General Election?

(A) Armenia
(B) Sweden
(C) Switzerland
(D) Hungary

140. If CAT and BOAT are written as XZG and
YLZG respectively in a code language, how is
EGG to be written?

(A) VSS
(B) URR
(€) VIT
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Jé&. fary e Aol 00 @AM ‘@i
A’ QRIS JIZ© ?

137. Fsfafrona s @ 7 R o o %
(s wefey) argfoa afrel ?

(A) @Ot 53 (SIZ!

(B) fafsianeg e

(C) T¥=ie

(D) SAfR™ CqF

138. R (e 4y R ?
(A) @R

(B) w3

(ORBCIRER

(D) ot

139. 37 ST (@I (0 AL WL #1717
NERIEERIEGEE

(A) AT
(B) R0

(C) RHFES
(D) QA

~ N

/éém. Ifi CAT @3¢ BOAT zrzrr:}c{')}zc PR

LZ5 =0, 9@ EGG T
(A) VSS
(B) URR
(C) VIT
(D) UTT

(D) UTT



141. Which part of human e

o ye has the maxi
refractive index? ——

(A) Aqueous humour

(B) Vitreous humour
(C) Lens
(D) Cornea

142. Which amop

refrigerator? g the following is present in

(A) Carbon dioxide
(B) Methane

(C) Helium

(D) Chlorofluorocarbon

143. The ‘Radcliffe Line’ lies between
(A) India and China
(B) India and Bangladesh
(C) India and Bhutan
(D) India and Pakistan

144. Which of the following dynasties was
designated as ‘Balhar’ by the Arab travellers?

(A) Chalukya
(B) Chola

(C) Rashtrakuta
(D) Pandya

145. Which one of the following is the highest
peak of South Bengal?
(A) Sandakphu
(B) Gorgaburu
(C) Pareshnath
(D) Biharinath

B-
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C:%’- TN (B1ea @t S 2ifesrars sirerst
?

(A) =uigasy B
(B) fefiam B
(©) =™

(D) =ffa

142; fastaeracs (G Rreiana) kR @b e
(A) I TRRIRG
(B) faraw
(C) Rferam
(D) GPICIFTAPIL

/
/

gﬁw e @ b oo T e
(A) ©IFS € BiF
(B) SIS € AR

(C) ©IF® € Bl
(D) e @ A3

/{44 2 A IS @ AT o
T wfefze Fare ? ;

(A) BIEH
(B) @&

(C) /TG

(D) ey

145. FsfeRe @Wb vfFkeE T §%e
(A) ASY
(B) csttsfieze
(C) #=ae
(D) fgda
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146. Bronze is an alloy of
(A) Copper and Zinc
(B) Tin and Zinc
(C) Copper and Tin
(D) Iron and Zinc

147. O% is isoelectronic with
(A) F
(B) Cl'
(©) Li’
D) K

148. Who founded Servants of India Society?
(A) Annie Besant
(B) Mahadev Govind Ranade
(C) Gokhale
(D) B. G. Tilak

149. ‘Ornithology’ is the science of
(A) Bird
(B) Reptile
(C) Amphibia
(D) Mammal

150. Among six persons A, B, C, D, E, F, there
are 3 married couples of which A, C, E are husbands;
B, C, D are cousins and B is not wife of A. Then
husband of B is

(A) C
(B) E
€) A
(D) F

147, OF.qq T TR FR X Wiy
o =

(A) F

(B) CI

©) Li’

D) K’

48. (@ ST A 2 GRS Few 3
(A) SO €
(B) TR (oM IS
(C) (oI
(D) . f&. foora

7{‘Omithology’ G
; (A) “FF ars Ew
(B) wamye! e faea

(C) Tove aas Rww
(D) BT ars Rew

150. A, B, C,D, E, F—«3 6 & Jifea w00 30
fRrif® wifs Wi, Ao g A, C, E 2o A
B, C, D #fa S~ A | B, A3 & T
Oz B-93 A 2@

(A) C

(B) E

©€) A

(D) F
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151. Who founded ‘Gadar Party’ (1913) and
where?

(A) Bhagat Singh, Great Britain

(B) Lala Lajpat Rai, France

(C) Lala Hardayal, America

(D) Captain Mohan Singh, Germany

152. Mettur dam is built on
(A) Mahanadi
(B) Godavari
(C) Krishna
(D) Cauvery

river.

153. Which one of the following animals is not
‘warm-blooded’?

(A) Hen
(B) Tiger
(C) Bat
(D) Toad

154. Ram Prasad Bismil’s name is associated
with
(A) Kakori Conspiracy Case
(B) Lahore Conspiracy Case
(C) Alipur Bomb Case
(D) Meerat Conspiracy Case

155. Which of the following constitutional
amendments gives a constitutional status to the
Panchayati Raj institutions?

(A) 72nd
(B) 73rd
(C) 74th
(D) 75th

SBP/22

151, &, oter ‘s oA (1913) ! I ¢
(A) ©ors e, (afb fame
(B) #e FGoRS AR, T
(C) =l TR, ST
(D) T e e, St

152. Gwga iy fffe zanz T TAA |
(A) =R
(B) (strad

(C) 3=
(D) FIER

153, e @ A9 Swrifds’ i 73
(A) T

(B) IM™

(C) ATe
(D) e

154, AR [REATRETa S (e STEE AU TE
(A) I TeTF T
(B) RN TSI Sl
(C) fF=[a A= e
(D) f=iS gTg s

155. fsRe @W ARy et s
G JIFE AFH ATONES T (A 2
(A) 72%%
(B) 73 &%
(C) 74 =¥
(D) 751

Please Turr
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156. Under which article of the Constitution the
President can take over the administration of a

State in his own hand?
(A) Article 352
(B) Article 356
(C) Article 351
(D) Article 350

157. The Gupta King who destroyed Sakas was
(A) Samudra Gupta
(B) Chandra Gupta-I
(C) Kumara Gupta
(D) Chandra Gupta-II

158. In a certain code KOLKATA is coded as
11151211012001. How will BENGAL be coded?

(A) 020514070112
(B) 020514210111
(C) 020521250110
(D) 020514200112

159. The first transgenic crop was
(A) Tobacco
(B) Cotton
(C) Pea
(D) Rice

0. LataMangeskar was awarded Bharat Ratna
1€ year —

(A) 2000

(B) 2003

(C) 2001

(D) 2005
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6. ﬂ(ﬁmmmwﬁmm?

(A) 352 414l

(B) 356 414
(C) 3514
(D) 350 411

157, e D U SO T RR

158. KOLKATA-(F FAerFfoFeid
1151211012001 G101 27#T, BENGALS 1 (#141
A7

(A) 020514070112
(B) 020514210111
(C) 020521250110
(D) 020514200112

159. GEife=a o (ofF s *30i =&
(A) SIS
(B) et
(C) o3
(D) 4=

}A;WSIW@WW TNy’ &S I ?
(A) 2000
(B) 2003,
(C) 2001
(D) 2005



161. *Navjivan® was edited by
(A) Rasbehari Basu
(B) Gandhiji
(©) Lala Hardayal
(D) Aurobindo Ghosh

162' The fourth term

_ of the following alphabet
series—

, JHIG

163. Notuburu iron ore mines are located in
(A) Singhbhum District

(B) Mayurbhanj District
(C) Baster District
(D) Durg District

164. The Vice-President of India is

(A) directly elected by the people.
(B) nominated by the President,

(C) elected by the members of the state
legislatures.

(D) elected by an electoral college

constituted by members of the two
Houses of the Parliament.

165, Which quantity is increased in step-down
transformer?

(A) Voltage
(B) Current
(C) Wattage

(D) Frequency

.
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161. ‘Fa&ewr’-aa s=eiiven A
(A) aRed =
(B) siif&fe

(C) =71 23w
(D) wafew carg

162. o3 Srwarfia el s—
ZXYW,VTUS,RPQO,
(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK

,JHIG

163. (MIF =Tz Wz 2 o —
(A) Ficgw (o
(B) WFeg (T
(C) |2 (=

(D) 75 (et

}64. JECERCE T

(A) mmqmmwmﬁmw

(B) S =6z wrandrs =1

©) e Rermedefm s T
o =)

(D) *efiomde Ton arwe TR |
mmﬁm&amm

165. GB-ISw Groreramicy TS T ¢
(A) o
(B) =z
(C) enthwy
(D) Retzerexte;

Please Turn Qv
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166. Who won the best Director Award at Oscars,
20227
(A) Patty Jenkins
(B) Ava Duvernay
(C) Sofia Coppola
(D) Jane Campion

167. Who won the Sahitya Akademi Award,
2021 in the English language category?

(A) Namita Gokhale

(B) Khalid Hossain

(C) Arundhati Roy

(D) Kiran Gaurav

168. In a camp there was food for 190 days of
4000 men. After 30 days 800 men left. Remaining
men will spend the remaining food in how many
days?

(A) 250 days
(B) 230 days
(C) 200 days
(D) 170 days

169. The quorum requirements in the Rajya
Sabha is

(A) 25

(B) 50

(C) 100

(D) 126

170. A fruit seller after purchasing a basket of
mangoes saw that some fruits are rotten. He
incurred a loss of 5% after selling the rest of the
mangoes at < 2,280. How much money did he
spend in purchasing a basket of mangoes?

(A) T 3,000
(B) ¥4,000
(C) 2,400
(D) 2,500

167. sqafrora s 2021 T AR ey
(‘91?1’31?1 @ e I ?

(A) 7S (ST

(B) e R

(C) wFFs! A

(D) f=et T

168. G5B FIT=21 4000 & (FIF 190 vt 21
g fze | 30 Tt AT 800 T CHAIF BT (O | Ty
i F2E, SRS AW It FoWe Hata ?

(A) 250 =

(B) 230 fae

(C) 200 fa=

(D) 170 fa=

1;5{ AT (AN &) IO FOGT GoA{Z

TG 2
(A) 25
(B) 50
(C) 100
(D) 126

170. &3 T Rree! 3 3 s @w 30 Y6 I
(PR P SIS oA (10 | A1 o 2,280 BreT R
O 5% S 271 | Fofet v B firc < Y o

e ¢
(A) 3,000 B!
(B) 4,000 Bt
(C) 2,400 B0l
(D) 2,500 Bt




171. Stammerin
(A) Byp
(B) Hearing
(©) Noige
(D) COmmotion

g 1s to Speech as Deafnegg is to

172. Whic

Bengal hag t}t]neotf\ig:esf:) lcl}?i\{vdhixdismds
(A) Darjeeling

(B) Howray,

(©) KOlkata

(D) Malda

of West
ratio in 201 1?2

173._Wh0 among the following Sultans
.orgamzed Iqta, army, currency and other most
Important organs of D

elhi Sultanate?
(A) Shamsuddin Htutmish

(B) Giyasuddin Balban
(C) Muhammad bin T

ughluq
(D) Alauddin Khilji

174. On which date the Indian Constitution was
adopted by the Constituent Assembly?

(A) August 15, 1947
(B) November 26, 1949
(C) January 26, 1950
(D) August 15, 1950

175. Match List-I with List-II:

List-1 List-1I
(a) Moriyas 1. Pippalivana
(b) Videhas 2. Mithila
(c) Licchavis 3. Vaishali

4. Kapilavastu
= M\;’ll]l?Zh of the above is/are not properly
matched?
(A) (a-1), (b-2), (¢-3)
(B) (d-4)
(C) (c-3), (d-4)
(D) All of the above
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Stammering - Speech %77, Deafness : 2
(A) Ear

(B) Hearing
(C) Noise
(D) Commotion

(A) i et
(B) Pramwm wemam
(C) sz = geers
(D) wEeie et

(A) 152 =1955G, 1947
(B) 260 te%3, 1949

(©) 260 wrefy, 1950
(D) 158 S1555, 1950

175. R T 8 A-97 Wi 2 2

-5 RIEGIET
(a) cufresty 1. P
(b) ﬁ-cy,‘—isjcj 2. Widen
(c) fomafasm 3. i
(d) sl 4. et

BN (WG T A o g ?
(A) (a-1), (b-2), (c-3)

(B) (d-4)

(C) (c-3), (d-4)

(D) TAEI 703

Please Turn Over
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176. Who among the following was associated
with the Bardoli Satyagraha (1928)?
(A) Rajendra Prasad
(B) Vallabhbhai Patel
(C) Motilal Nehru
(D) Jawaharlal Nehru

177. Where was Chauri Chaura?
(A) Patna
(B) Bhagalpur
(C) Gaya
(D) Gorakhpur

178. How many districts are there in West
Bengal?

(A) 20

B) 19

(C) 23

(D) 25

179. Which among the Mughal princes
assassinated Abul Fazl?

(A) Khasru

(B) Selim

(C) Azimushhan
(D) Khurram

180. The Poona Pact took place in the year
(A) 1857
(B) 1932
(C) 1935
(D) 1942

176.
% 4@ 2l ? 181.
I (A) Pl motior
(B) TSR T =
(©) et

Sal

179, (¥ AT G WA FEAT T
TR ¢

(A)

(B) G

(C) e

(D) 7™

180, 71 75 T A THES W?
(A) 1857
(B) 1932
(C) 1935
(D) 1942
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;:;QnAw‘Za’“fée ‘fa“‘t""i“f;“‘,a;l‘“if""“ o s || 19 s T o0 A B V (57)
: nstant spe Ong a circle o
Raditag 7, The Acceleration of the Particle js T e T &R 1 W i
(A) Zerg (A) w5
®) ¥ ®) ~
4
© X © =
2
) ¥2 @) L
r r
182. 0 wag the founq .
Sabha in Bengay Nder of Tattwabodhml 192/ — AR o1 ofobror o —
(A) DadOba Panduran (A) m S
(B Debendrana[h Tagore (B) gy
(C) Radhy Kanta b (©) P g
(D) Keshap Chandy Sen (D) =rvar o
183. The Advocate Genera] of State j
| e e
(A) the Chief Minister. 8 ]
(B) the State chislature. (B) ey "
(©) the Governor. © syt
(D) the State Law Minister (D) ey sz
184. Which one of the following dam is not 184, Ttwa o s T &= ofs =iy
meant for irrigation? ' (A) SR Ao
(A) Bhavanij Sagar (B) M
(B) Si\fasamuc'lram (C) IS Mot
(C) Krishnaraja Sagar (D) el ey
(D) Bhakra Nangal
; ' TS SR N
185. Arrange the list of foreign travellers in 185. ﬁt‘.ﬂ‘@ o™ rfowma
chronological order: _ ’ BTW Grte (R 7re)
o) usnzng st Teang) E:)) ESEY ,
(b) Itsing ©) = Ram 4
(c) Fa Tsien (d) iR
(d) Megasthenesd) (A) (@), (b), (c), (d)
(A) (a), (b), (c), ( \ (B) (a), (d), (b), (c)
(B) (a), (d), (b), (lc) (©) (@), (©), (a), (b)
(C) (d)a (c)v (:))' ((a; (D) (d), (c), (b), (a)
(D) (@), (¢), (b), Please Turn Over
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186. Who among the following stated that there
was no slavery in India?
(A) Strabo
(B) Ptolemy
(C) Megasthenes
(D) Xuanzang (Hieun Tsang)

187. Which of the following countries won the
Thomas Cup International Badminton
Championship, 20227

(A) Indonesia
(B) India
(C) Malaysia
(D) China

188. In which city, Australia will host the 2026
Commonwealth Games?

(A) Victoria

(B) Sydney

(C) Perth

(D) Brisbane

189. Who among the following was the Greek
king of Syria mentioned in Asokan edict?
(A) Antiochus II Theos
(B) Ptolemy II
(C) Antigonus
(D) Alexander

190. Fermentation ability of Yeast is due to
(A) Amylase
(B) Zymase
(C) Invertase
(D) Galactase

-36
IQZ R AL E™

ArF NG AR ? R

(D) 2T BT (28 ite)

188 R GO = 2026 T Ty
(51 SIS R0 ?

A) TeEifz

(B) Frefd

(C) oA

(D) faeita=

189, SIS TR CEfRe it s
T P

(A) Sy 11 faes

(B) Sl 11

(C) BT

(D) TEFSS

190, 3354 & (Fermentation) R T
W 2
(A) SOTRETS
(B) iz
(C) TR

(D) STENFES

A
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191. The first sermon of Gautama Buddha is
called

(A) Mahabhinishkraman

(B) Dharmachakra Pravartana
©) Dharn[naghos

(D) Mahaparinirvana

192. The Non-Cooperation programme was
adopted in the

(A) Lahore session

(B) Congress session at Nagpur
(C) Gujarat Congress
(D) Second Round Table Conference

193. Who among the Mughal Emperors/
Courtiers made arrangement for translation of
Upanisadas into Farsi?

(A) Babur
(B) Akbar
(C) Shah Jahan
(D) Dara Sukoh

194. Who won the Women’s Badminton Singles
title at Swiss Open, 20227

(A) Saina Nehwal

(B) P.V. Sindhu

(C) Carolina Marin

(D) B. Ongbamrungphan

195. The Eastern Ghats and the Western Ghats

meet at
(A) Cardamom Hills

(B) Palani Hills
(C) Nilgiri Hills
(D) Annamalai Hills
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191. ¢frow qrae aifta 29w A51a0d 960 28
(A) sweifefige
(B) wfoF efads
(C) 4=
(D) s

Wﬁ e “Afasmt oz F41 =
(A) =R S

(B) FLAGTA Flotof7 STt

(C) w&a ST _ |

(D) &S olet B taot

3. (I 9 G/ e Sl b
SN A 2
(A) IR
(B) ©ifeqd
(C) "R &=
(D) Wi &

194. 2022-43 3 SN WZw @7 JTORrG
sferaifare @ s =2

(A) A 2T

B) . fe. b

(C) wifm TRw
(D) R, e

195. s “A<Sewie @ «ARowais sifouE
AR @AH—

(A) e 2
(B) il #1&e
(C) T 4
(D) WM oS

Please Turn (
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196. Who is the first Law Officer of the
Government of India?

(A) Chief Justice of India

(B) Union Law Minister

(C) Attorney General of India
(D) Law Secretary

197. Which Chola king was known as
Arumolivarman before his coronation?

(A) Vira Rajendra
(B) Rajarajal
(C) Kulottunga I
(D) None of them

198. Who among the following put forward the
famous Drain Theory?
(A) Dadabhai Naoroji
(B) Surendranath Banerjea
(C) Gopal Krishna Gokhale
(D) Bal Gangadhar Tilak

199. Which Indian Architect has been conferred
the prestigious Royal Gold Medal, 20227

(A) Balkrishna Doshi
(B) Sheila Sri Prakash
(C) Brinda Samaya

(D) Hafeez Contractor

200. Whoisthe composer of Allahabad Prasasti?
(A) Harishena
(B) Bishakhdutta
(C) Kalidasa
(D) Shudrak
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196. Wwaw@ﬁ"ﬂr_ T
[ (A) srared g RO
(B) (@5 Sieuil
(C) SrTeR DA (ST
(D) =izt Hod

) §
(B) 24 qrer<rer
(C) 2A¥ FLAGR
(D) TR (TR 7

198 frsfeieT™ T @ Rgre fsfm oy
QAR ?
(A) TSR FeT&!
(B) AH G

(C) (oA (ST

(D) I iyF foor<r

199. (@W SO ZATSTE 7=l A WA
(SIS (NTTe, 2022 2FTHIT ST TR ?

(A) e Gl
(B) et & e
(C) 1w

(D) 2ifFe FAGET

200. 9@V 2*EE TR (&
(A) T

(B) firame

(C) e

(D) ¢
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